Name		Date	4.3C HW


Solve the inequality. 


	1.		2.	





	3.		4.	





	5.		6.	





	7.		8.	





	9.		10.	



BACK 


Write the word sentence as an inequality. Then solve the inequality.
	11.	Five times a number is not less than 15.
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	12.	The quotient of a number and -4 is less than 




	13.	An SUV averages 16.5 miles per gallon. The maximum average number 
of miles that can be driven on a full tank of gas is 363 miles. Write and solve an inequality that represents the number of gallons in a tank. 
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